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Question Number : 1 Question Id : 70819115424 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
X

The workdone by a gas molecule in an isolated system is given by, W= ;'t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :

Options:
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Question Number : 1 Question Id : 70819115424 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 70819115425 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :

kS

.1 |'.'%Gm
3
70819151425, 27 V d

13
- | d
= I'%G T
70819151426, V3G
2T ﬂ||II|I| 3 i_;ﬂ'l
70819151427. )
.
1 L13

— ]
=l
70819151428, 2™ V3Gm

Question Number : 2 Question Id : 70819115425 Question Type : MCQ Option Shuffling : Yes Is

uestion Mandatory : No .
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Correct Marks : 4 Wrong Marks : 1

[ T AEACEE G d 7S & @04 m G322 S i O SIRA $AN SAICEA BahS
TR WSR3 I ST I 74

Options :
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Question Number : 3 Question Id : 70819115426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical particles of equal masses 1 kg made to move along the circumference of a
circle of radius 1T m under the action of their own mutual gravitational attraction. The speed
of each particle will be :

Options :
J(1+242)G
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Question Number : 3 Question Id : 70819115426 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

J(1+242)G
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70819151430. ¥ =

. G(1+242)

=

70819151431.
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Question Number : 4 Question Id : 70819115427 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;
I 1= M.L of thin circular ring about its diameter,

[,=M.I. of circular disc about an axis perpendicular to disc and going through the centre,
l3 =M.L of solid cylinder about its axis and

l4 =ML of solid sphore about its diameter.
Then :

Options :
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Question Number : 4 Question Id : 70819115427 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 70819115428 Question Type : MCQ Optior €k« flima~ - Vs 1o
Question Mandatory : No gcqllegedunia;



Correct Marks : 4 Wrong Marks : 1

Consider two satellites 51 and S2 with periods of revolution 1 hr. and 8 hr. respectively
revolving around a planet in circular orbits. The ratio of angular velocity of satellite 5, to the
angular velocity of satellite 5, is :

Options :
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Question Number : 5 Question Id : 70819115428 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 6 Question Id : 70819115429 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Each side of a box made of metal sheet in cubic shape is ‘a’ at room temperature ‘T, the
coefficient of linear expansion of the metal sheet is “o’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.

Options:

B
70819151441, 4ma’aldT

70819151442, 4a’aAT

4
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70819151443, 3

70819151444, 3a’aAT

Question Number : 6 Question Id : 70819115429 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4
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Question Number : 7 Question Id : 70819115430 Question Type : MCQ Optior
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and n are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
oK
¥—= 'I\z - [‘u.',fm2
70819151445, 2m +3K
o
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Question Number : 7 Question Id : 70819115430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7k Y, K Ga8 7 INA (P8 TAM We-93 G043, SIS PR Q18T Ga8 [Hal Q1T T
A foefee @w R 7 2

Options :
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Question Number : 8 Question Id : 70819115431 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AME, what would be the shape of the corresponding
acceleration-time graph ?

M
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Options :
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Question Number : 8 Question Id : 70819115431 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819115432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole of a perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—B :  Isothermal expansion at temperature T so that the volume is doubled from
Vl to V2= ZVl and pressure changes from I"l to Pz-

B—=C ’ [sobaric compression at pressure P'2 to initial volume V I

C—=A ’ [sochoric change leading to change of pressure from l'J'2 to P'l.

Total workdone in the complete cycle ABCA is :

Pa
PZI, """"

Vi V=2V vV
Options :
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i
1u{r|h12|
70819151455, \

i
11[{]'| In 2 5
70819151456. -

Question Number : 9 Question Id : 70819115432 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819151453, U

70819151454, NRTIn 2

70819151455.
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Question Number : 10 Question Id : 70819115433 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11.

List 1
(a) Isothermal (1)
(b)  Isochoric (ii)
(c) Adiabatic (iii)
(d) Isobaric (iv)

List 11

Pressure constant
Temperature constant
Volume constant

Heat content is constant

Choose the correct answer from the options given below :

: MCQ Option Shuffling : Yes
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Options :
70819151457, (@) —= (1), (b) — (iii), (c) — (i), (d) — (iv)

70819151458, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

20819151459, @ — (i), (b) — (), (c) — (if), (d) — (i)

20819151460, @ = (), (b) = (i), () = (iv), (d) — (i)

Question Number : 10 Question Id : 70819115433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s oo & 24
wiferal-1 wifere-11
(a) CATS (i) ZFIFE
(b) S (ii) &FIF GEETE
() Faer (i) FIF TS
(d) s (iv) SEA (b T FIF

Options :
70819151457, (@) — (i), (b) — (iii), (c) — (i), (d) — (iv)

70819151458, (@) = (iii), (b) — (i), (c) — (i), (d) — (iv)

20819151459, @ = (1), (b) — (), (c) — (if), (d) — (i)

70819151460, @) — (i), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 11 Question Id : 70819115434 Question Type : MCQ Optic
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :

M

SO

FELTIFTIRITI 777777

Options:

W+ m

70819151461, J M

M

A
\II M+m

70819151462.

A (M—m
70819151463, VM

—
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g
|
70819151464, Y M—m

Question Number : 11 Question Id : 70819115434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 12 Question Id : 70819115435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Acell E | of emf 6 V and internal resistance 2 () is connected with another cell E2 of emf 4V

and internal resistance 8 () (as shown in the figure). The potential difference across points
Xand Yis:

p b X By
———t—

6V,2{) 4V, 810
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Options :

70819151465, 2.0 V
70819151466, 3.6 V
70819151467, 5.6 V

70819151468, 10.0 V

Question Number : 12 Question Id : 70819115435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 V STbe B 7 @2 2 () Wremae (A1 e @@l i E, 4 V b 5 7 8 8 () e
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Options :

70819151465, 20 V
70819151466, 3.6 V
70819151467, 5.6 V

70819151468, 10.0 V

Question Number : 13 Question Id : 70819115436 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as

i=agt+pt?
where ay=20 A/s and ;=8 As~ 2 Find the charge crossed through a section of the wire in
15s.

Options :

]

70819151469, 260 C
70819151470, 2100 C

70819151471, 11250 C

70819151472, 2250 C

Question Number : 13 Question Id : 70819115436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aF ©ad fowa M g2z fagrea waeae
i=agt+pt2

TIAA 0, =20 A/s, p=8 As™ 2
43 ©Itaa fooq e 15 s THCa 2aie Snemera “Afe= :

Options :

]

70819151469, 260 C
70819151470, 2100 C

70819151471, 11250 C

70819151472, 2250 C

Question Number : 14 Question Id : 70819115437 Question Type : MCQ Optic gcollegedunia;



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in parallel. The ratio of the
equivalent capacities in the two cases will be :

Options:

=
3

70819151473.

2
—

70819151474.

.
o

70819151475.

,_.
e

70819151476.

Question Number : 14 Question Id : 70819115437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819115438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag



A cube of side ‘a" has point charges +(Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :

AX
+0Q +Q
+Q +Q
+Q
+Q A4
i S — +Q
Options :
Q [ ok )
= —— —Ixtutz
3 17 a- \
70819151477, V3 ™0a" /
5 ( = ]
X+ y+z
*r\ETTE{}E]E \ ’ y
70819151478.
20 )
= Q = x4+ yp+z
33 mwEna” |\ 3.
70819151479, 'V 0 :
9 [ N
r—eer ll e
70819151480, V3 meoa” | J

Question Number : 15 Question Id : 70819115438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 16 Question Id : 70819115439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of B will be :

Options :
70819151481, 7

0.875
70819151482, 0-87 M collegedunia



70819151483, 0.5

70819151484, 3.5

Question Number : 16 Question Id : 70819115439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
34+ @& GAeTHTEs FeTaa oarg e e 4 mA O3 O A1%% 440 A 3.5 mA |

€3 GO &0 B & W A :

Options :
70819151481, 7
70819151482, 0-875

70819151483, 0.5

70819151484, 3.5

Question Number : 17 Question Id : 70819115440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
oo Continuum = g 7
C2 1L =il
n=>s -0 eV
n=4 —0.85eV
n=3 . —151 eV
gl € |p
n=2 : —34eV
A F
n=1 —13.6eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819151485, of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819151486. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819151487. of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819151488, Paschen series.

Question Number : 17 Question Id : 70819115440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819151485.

7081915148

70819151487.

70819151488.
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Question Number : 18 Question Id : 70819115441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :
Statement 11 :

[n the light of the above statements, choose the correct answer from the options given below.

Options :

70819151489, Both Statement I and Statement Il are true

Two photons havi_ng equal linear momenta have equal wave[ength&

If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

gcollegedunla;
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70819151490. Both Statement I and Statement 1l are false

70819151491 Statement 1 is true but Statement 1l is false

70819151492, Statement 1 is [alse but Statement 11 is true

Question Number : 18 Question Id : 70819115441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fagfe 1 . w4 b RS Saras! W 20 OItvE s CaCeia WS S|
fagfe 11: 3 A SAHCHA ZH1 20 O@ O TAEE AL *1E 123 FA|

Options:

20819151489, 31 1 3t ffe 11 Tez s |

20819151490, o 1 «ae fgfe 11 owz w1
70819151491, 3 170w 9 feqfe 1|

20819151492, 13re 1 941 o e 11%1M0%1

Question Number : 19 Question Id : 70819115442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options :
70819151493, /=T
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70819151494, /= 1

F==3
70819151495, 2

f
70819151496. ° <

Question Number : 19 Question Id : 70819115442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options:

70819151493, /=T

70819151494, /= T

o
70819151495. 2

f
70819151496. <

Question Number : 20 Question Id : 70819115443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :

70819151497, 4 : 1 M collegedunia
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70819151498.

70819151499, 1:4

(R
-

70819151500.

Question Number : 20 Question Id : 70819115443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a3l Tme-«q folem *Fwm @ ferma @y femad qome =01 W T e T @
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Options :
70819151497, 4:1
70819151498, 21
70819151499, 1:4
70819151500, 2 : 1

Physics Section B
SectionId : 708191569
Section Number: 2
Section type: Online
Mandatory or Optional : Mandatory

Number of Questions: 10 .
collegedunia:



Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191849
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819115444 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass (.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it
adhere to the wall willbe N,

[g=10 ms~2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819115444 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

05 kg T 8 @l I3 A7 ML I TP R S Tl 415F 02 | 9% (R
T2 TG FR59 S8 (A PG T AT FACAS FN *ICA 0 Poreget sfoq ey
NI

[g=10ms 2]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
gcollegedunia;



Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115445 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of ight beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30° in clockwise direction,
the intensity of emerging light willbe __ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115445 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

43T TG *AFE @I PHIeS ULAR U FAIGE WHee A [EAEE (AF 100 T
ST NG A | G TS (3 e WA siferlers o 4 30° 9% 36 i (Feees)
ACAE o7 A W@ ofemd Gech
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115446 Question Type : SA

gcollegedunlag
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Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : y, where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115446 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
9 m/ sTALS! sifeaa G 751 o1a @M 57 wfon Iaa JAmfa oeTe e | o 5 qib 958 Ao
T @ oot @ O MY 3(0° 319 I 5A0S WF FA| A o 97 §oa Sfearsd e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819115447 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘m” on the smaller piston.

Response Type : Numeric

Evaluation Required For SA : Yes

gcollegedunlag
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115447 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

G TEGEF (AT T PRI ‘m R B 15 PR A 100 kg S TACS A | @R A1 PR TR
9 4 @9 ACIT T51 S e (AL A 4 89 FACH T, 0l €3 33 ‘m’ T4 7 FAE T AT !
B 7 F© o1 1 TATS aa )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819115448 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ty

An inclined plano is bent in such a way that the vertical cross-section is given b}-‘ y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is ___ (M.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers : gcollegeduniag



5 to 5.001

Question Number : 25 Question Id : 70819115448 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
” ; . X
GFf TOTF IS T ZA (@ IFeA DA I T Ao y=Iﬂ?ﬂqwmww

@A y &7 T TF9 03 S x @7 7@ Oggiia W@ | 3 I@waia 7Y @i A0FA T 3914F | @@
T 0.5 20 ©7 §¥ (AT T Sl #1eg e 2 gl foa s ot e mem T

cm |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115449 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2x10 4 H and 6.28 () respectively
oscillates at 10 MHz frequency. The value of quality factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115449 Question Type : SA

gcollegedumag
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Correct Marks : 4 Wrong Marks : 0

GF ST SIER TGS ATETE @ (ATET T IS 2 x 104 H €32 6.28 () @@ «ba S
(5@ 10 MHz | % 99119 Q-9 ((FRIeld FETaR) Tz |
T=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115450 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 27(1500t) amplitude modulates a carrier
v. =80 sin 27(100,000t).

The value of percent modulation is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115450 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
v, =20 sin 2m(1500t) IAEFITFS &40 v =80 sin 27(100,000t) AT AT R a1l (IFEqea)
79 79| eeq [q@ered (e W % |

Response Type : Numeric

Evaluation Required For SA : Yes

gcollegedumag
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115451 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In connection with the circuit drawn below, the value of current flowing through 2 k()
resistoris  x10"% A,

WAA
1k

p-
2 k() sy
|

'
10V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819115451 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ovE Toraa Iea SEPE 2 kO @ dAEEm AE . <1074 Al
AN ————
1 k0

y ]
2K "7y,

Response Type : Numeric gcqllegeduniag



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115452 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115452 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

43f3 5 GHz F112734 T8 538 1 O 2 WITeIFeg ©fee (owel 8 2 wefes (5fes mwege «3h
T #AEE o1 OF T Tahd SFAA@ I @ adE  x107m/s |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

gcollegeduma;
||||| s largest Student Review Platform



Question Number : 30 Question Id : 70819115453 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819115453 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a3 Me4@e-52% @S SATAA & 12 V (D.C.) Term o |« B aafers @@l 220V
(A.C) TP, €@ T (AfRaes), a2 G YR ITACEA AE | I G R
FEAA #1F N0 24 T, A AT FEAT AT WM TA |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A

Section Id : 708191570 g
collegedunias



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191850
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819115454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following are isostructural pairs ?
A. 50,2 and CrO,?

B.  5iCly and TiCl,

C. NH, and NO,

D. BCl; and BrCl,

Options :

70819151511, /+and B only

70819151512, ** and Conly

70819151513, © and Conly

70819151514, © and D only

Question Number : 31 Question Id : 70819115454 Question Type : MCQ Option Shuffling : Yes

gcollegedunla;
||||| s largest Student Review Platform

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

s TG/ TR S-S (ST EeETE) TES ?

2 o 2

A. SO,/7 @R CrO,

B. Si(, @3t TiCl,

C. NH;@3d2 NO;,

D. BCl, @3 BrCl,

Options :

70819151511, (Fd A AT B

70819151512, A& A &3 C

70819151513, =& B @92 C

70819151514, ceaaad C €< D

Question Number : 32 Question Id : 70819115455 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm, slope of AB line is :

B

! f}/

=|E] .

logP ——

Options :

n with (n, 0.1 to 0.5)
70819151515.

20819151516, 08 n with (n>1)

70819151517, gm”egeduniag



Ingl with (n < 1)
n

" L A
i “riﬂ] ' l = U to l
\ I

70819151518, 1 /

Question Number : 32 Question Id : 70819115455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T TR S AB 72918 e 37 -
B
=Bl e
en |-
=

log P ——>
Options :
70819151515, 1 (¥ 0.1- 05)

70819151516, 108N TIHCTn > 1

Ingl Eidn<l1
70819151517. n

" 3
70819151518, I " RIS

Question Number : 33 Question Id : 70819115456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunla;
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Consider the elements Mg, AL S, P and Sj, the correct increasing order of their first ionization
enthalpy is :

Options :

70819151519, Al <Mg<Si<S5<P

70819151520, Mg <Al <Si<P<S

20819151521, Mg <Al<Si<S<P

70819151522, Al<Mg<5<5i<P

Question Number : 33 Question Id : 70819115456 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mg, Al, S, P @2 Si TR 22m SRS (e[ 7oe Taaw 29 ¢

Options :

70819151519, Al <Mg<Si<S<P

70819151520, Mg < Al<5i<P <5

70819151521, Mg <Al<Si<S<P

70819151522, Al <Mg<S<Si<P

Question Number : 34 Question Id : 70819115457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following ore is concentrated using group 1 cyanide salt ?

Options :
gcollegedunlag



70819151523, Calamine

70819151524, Malachite

70819151525, ~iderite

70819151526. Sphalerite

Question Number : 34 Question Id : 70819115457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fersfere o] wrelaelt auw cafdq SaTze e TagE a5 91 27 ?
Options :

70819151523, FIFT+2

70819151524.

70819151525, TCEAZD

70819151526, o4 X

Question Number : 35 Question Id : 70819115458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(A) HD'CI-I-HEO2 — HHD F+Cl™ + Dz
Choose the correct option.

Options :

70819151527, H,0, acts as oxidising agent in equations (A) and (B). gcqllegeduniag



70819151528. H,0, acts as reducing agent in equations (A) and (B).

20819151529. H,0, act as oxidizing and reducing agent respectively in equations (A) and (B).

70819151530. H,0, acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819115458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - H,0* +C1~ +0,

(B) IL,+H,O,+20H =21~ +2H,0+0,

HoE TEan e 749

Options :

20819151527, AT (A) @3 (B) TS H,0, T3 f2ria /e |

o (A) @32 (B) T H,0, @@ B ag@ |
70819151528, i

20819151529, (A) 932 (B) I HO, INHN TRE @3 e 2o a9gd 3|

: qce T faere . TaS BrTa q P2
20819151530, (&) G2 (B) FHFA Hy0, e @32 TES BOTA a9 I |

Question Number : 36 Question Id : 70819115459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AIZD3 was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :

Options :

70819151531, X RO Y=50,, £=8404 gcqllegeduniaé



70819151532, X =Al(OH);, Y=50, Z=AL,0;2H,0

70819151533, = Al(OH);, Y=CO, Z=AlL0;

X=Na[Al(OH),], Y =CO,, Z=Al,0..a2H,0
70819151534. a[A(OH),] 2 203xHy

Question Number : 36 Question Id : 70819115459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALQ, T3 T 2 femiam (fo1h) B0 X A6 19| X-@ B0 9 7 Y 7 o2 e Z
Terfs T X, Y @2 7 IUTE ¢

Options :
70819151531, ~ NalAlOH),l, Y=50,, Z=Al,0,

70819151532, X=AlOH);, Y=50,, Z=A1,0;.0H,0

70819151533, ~=AlOH);, Y=C0O, Z=AL0;

70819151534, ~ NalANOH)], Y =COp, Z=AL05xH0

Question Number : 37 Question Id : 70819115460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2+ /M of 3d-series elements shows positive value for :
Options :

70819151535, Fe

70819151536, C© gﬁilﬁ%ﬁﬂ:ﬂfﬂiﬁ



70819151537, 2P

70819151538, Cu

Question Number : 37 Question Id : 70819115460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3d-Tfer Thea T M2+ /M SfeaE @ a4 g ed TR
Options:

70819151535, Fe

70819151536, €O

70819151537, 2™

70819151538, Cu

Question Number : 38 Question Id : 70819115461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819151539. Cu, S5n and #n
70819151540, Cu, Zn and Ni

70819151541, Cu, Niand Fe

gcollegeduma;
||||| s largest Student Review Platform



70819151542. Al, Cu, Mg and Mn

Question Number : 38 Question Id : 70819115461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘e 4TS A (A THOw) 24 Teimmesfe =4
Options :

70819151539, Cu, Sn &&2 Zn
70819151540, Cu, Zn a2 Ni

70819151541, Cu, Ni @3¢ Fe

70819151542, A €8, Mg <R Mn

Question Number : 39 Question Id : 70819115462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options :

70819151543, Acid rain

70819151544. Global warming and cancer

70819151545. Corrosion of metals

70819151546, ©zone hole

gcollegedumag
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Question Number : 39 Question Id : 70819115462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T SEATS (SOICAES ) SHeE T fW1sfS ST TU0E 20e 2 ¢

Options :

70819151543, 0 T

70819151544, 14 THR A2 T

70819151545, 19 =4

70819151546, ‘S8 134

Question Number : 40 Question Id : 70819115463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,50, followed by treatment with NaOH ?

/@/\/ CHs

HO

Options :

70819151547.

70819151548. OH

HyC :@i\/ CHy

70819151549. HO o

gcollegedumag
||||| s largest Student Review Platform



HO CH,

SO

CH,
70819151550. :

Question Number : 40 Question Id : 70819115463 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MG H,50, -¢ Ao SReyizied #ze [fem 47 NaOH #rane Twa 13 tqofb o ad

T 7
Options :
70819151547, HO
70819151548. OH
70819151549.

CHj
70819151550.

Question Number : 41 Question Id : 70819115464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunla
.................................



CH CH
NeTINCH,

What is the major product formed by HI on reaction with

CH,
CHj
Options :
CH,
CH, f[ C CH,l
70819151551. CH; H
CH,
CH3 —C—CH—CH,
I CH;,
70819151552. .
CH,4
CH;—C—CH—CHj
70819151553. CH; 1
CH, CH CH CH, CHj,
70819151554 - B

Question Number : 41 Question Id : 70819115464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CI 13 CH Y . . ", . . L
>T’/ %CHZ <8 Y HI -« e fofaiie Resafm ramb gam Teom g3 7
CH,

CH,

Options :

70819151551.
gcqllegeduniag



CH,

CH;—C—C CH,I

CH; H

CH, T CH—CH,
I

CH,
70819151552. :
CH,
CH;—C—CH—CHj
70819151553 CH; 1
CH, CH CH CH,— CH,4
70819151554, - I

Question Number : 42 Question Id : 70819115465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
CH;CH,CH, L} CH;CH,CHO

Options :

70819151555, Copper at high temperature and pressure

70819151556, Molybdenum oxide

70819151557, Manganc-sc- aceltate

gcollegedumag
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Potassium permanganate
70819151558.

Question Number : 42 Question Id : 70819115465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CH;CH,CHj4 3 CH4;CH,CHO

Options :

70819151555, ©P SIPRI 6 BT B

70819151556, N19eT T2

70819151557, WElwE «BHs

70819151558. BTFFIT #TrTeFCATG

Question Number : 43 Question Id : 70819115466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmduct formed in the first step of the reaction of

Br
|
CH; —CH,—CH—CH, —CH—CH,; with excess Mg/EtLO(Et=C,H;) is :
|

Br
Options :
CH;—CH;—CH—CH,—CH—CHj
70819151550, CHa—tH—=CH—CH— Gy~

gcollegedunlag
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CH
cus” ' ?
i
CH— CHj,

CH,

70819151560.

CH;— CH,—CH—CH,— CH— CH

CH; — CHy,— CH—CH;— CH—CH;
70819151561. @ z

M g Br
|

CH4CHy — CH—CHy;— CH—CHj
|

70819151562. MgBr

Question Number : 43 Question Id : 70819115466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Br
\ |
ufys qram Mg/Et,O (Et=CH;) -93 7% CH;—CH; —CH—CH,—CH—CH; ¢7
|
Br

fafam) o2 el Sesrm wmedf 2= ;

Options :

CH,—CH,—CH-—CH;—CH—CH,

|
CHa—CH—CHy—CH—CH,—CH
70819151559. 3 £ 2 3
CH,

cH;—cn |
70819151560. CH— CHs

CH;— CH,— CH— CH,— CH— CHj

CH; Ol — CH = CH— CH-— CH
70819151561. 2 :

70819151562, gﬁﬁl!ﬁ%fﬂﬂfﬂij



M g Br
|

CH;CH,; — CH—CH;—CH—CHj,4
|
T‘v‘.lgBr

Question Number : 44 Question Id : 70819115467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the final product (major) “A’ in the given reaction ?

OH
CH,
CH
e , _Hha 25
(major product)
Options :
Cl
CH,
CH
\"“CHB
70819151563.
CHj,
CH=—=CH,
70819151564.
CHj;
CH
\““CH3
70819151565.
70819151566.

gcollegedunlag
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CH,

Cl
CH,— CH,

Question Number : 44 Question Id : 70819115467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

+va ATy =iy 44+ Sesmmars 15 2
OH
CH,4
CH
Cl 13 HC1 ‘A

(He™ BeerEar)

Options :
Cl
CH,
CH
\\'“CH:*
70819151563.
CH,4
CH=CH,
70819151564.
CH,
CH
\““CH3
70819151565.
70819151566.

gcollegedumag
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CH,

Cl
CH,— CH,

Question Number : 45 Question Id : 70819115468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CH,

@/ Tl KMnOy CrO,
273 K > A > B
Options :
CHz CH,
A OH B:
70819151567. OH O
CHa CH,
A OH B: OH
70819151568, OH 0
CHj CH,4
Y™ 0T
708191515609. OH O
O 0
| [
A : CHC -CH.,CH.CH,—C-CH: B : HODC-—CH.CH,CH,—C_—-CH
70819151570. e 3 2CHyCH, 3

Question Number : 45 Question Id : 70819115468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No .
collegedunias



Correct Marks : 4 Wrong Marks : 1

TeAW A @2 B TS HAS 49|

CH,
e A ?
Options :
A: OH B:
70819151567. OH O
CHj CH,
A OH B OH
70819151568, OH 0
CH; CH,4
O™ oY
708191515609. OH O
O 0
[ I
A+ OHC = CHAH.OH:; —C-—CH: B~ HOOC-—CH.CH:/CH;——C —H
70819151570. 222 3 2CH,CH, 3

Question Number : 46 Question Id : 70819115469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedumag
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In the [ Gllnwmg reaction the reason wh}-' miela-nitro product also formed is :

NH, NH, NH, NH,
; NO,
Cone. HNO,
s > + =+
Conc. H,50,, 288 K
NO,
NO,
[A] [B] [C]
51% 47% 2%

Options :

70819151571 - I\]H?_ group is highl}-' mela-directive

—NO, substitution always takes place at mela-position
70819151572. - &

70819151573. Formation of anilinium ion

low temperature
70819151574,

Question Number : 46 Question Id : 70819115469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tieea fafEam aor-2rg! TeAwn S S 2SaE Fa

NH, NH, NH, NH,
el HNO, i)\ @, NO,
' > + +
el 1,50, 288 K
NO,
NO,
[A] [B] [C]
51% 47 % 2%
Options :

. - e
20819151571, — NH, T S A5+t |

gcollegedunla;
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70819151572.

70819151573.

70819151574, [ SR

wfefefemT S Tesw |

— NO, Afege 5=4m2 75-wag- 2|

Question Number : 47 Question Id : 70819115470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ and ‘B’ in the following reactions are :

NH,

NaNO,/HCl SnCl,/HCl/H,0*
e (A

W

KCN
Options :
+ s
N,Cl
(A):
70819151575.
+ —
N,Cl
(A):
70819151576.
CN
(A):
70819151577.
70819151578.

(B):

Cl

CHO

Cl

gcollegedumag
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CN

(A):

(B):

CHO

Question Number : 47 Question Id : 70819115470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tieea fafaam ‘A’ @ae ‘B 29 ;
NH,

NaNO,/HCl

SnCl,/HCl/H,0"

KCN

N,Cl
e

Options :

70819151575.

70819151576.

"Q

70819151577.
CN

(A)

O-

70819151578.

gcollegedumag
||||| s largest Student Review Platform



Question Number : 48 Question Id : 70819115471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List II.
List 1 List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (i) Nylon 6
(d) Acrylonitrile (

Choose the correct answer from the options given below :

iv) Neoprene

Options :
70819151579, @) = (@), (b) = (ii), () — (iii), (d) — (iv)

70819151580. (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

70819151581, @) = (i), (b) = (i), (¢) — (iv), (d) — (iii)

70819151582, (@) — (iii), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 48 Question Id : 70819115471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wifere! | @@ wifera 11 Taems |
wifere 1 wifera 11
(AR 9F%) (=ifersria)
(a) Ao (i) e aEm
(b) 2-TFIAI-1,3-AEorEEE (i) FN-N
(c) ECE (i) *ZF 6
(d) SHTESCER (iv) Freizm

e AFnalE rwE e e b 74 gcqllegedunia;



Options :
20819151579, (@) = (@), (b) = (id), (¢) — (iii), (d) — (iv)

20819151580, @ = (v), (b) — (iii), (€) — (i), (d) — (i)

70819151581, (@) — (ii), (b) — (i), () — (iv), (d) — (i)

70819151582. (a) — (iii), (b) — (iv), () — (i), (d) — (ii)

Question Number : 49 Question Id : 70819115472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819151583. vander Waals forces

70819151584. Covalent bonding

70819151585. lonic bonding

70819151586, [1ydrogen bonding

Question Number : 49 Question Id : 70819115472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s owa 7§ g siefas fom tafbra o-tafem eghen Hefen w7 2
Options :

TCR S 95
70819151583, gcdhgeduniag



Question Number : 50 Question Id : 70819115473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement I :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options :
70819151587 Both Statement I and Statement 11 are true

70819151588. Both Statement I and Statement 1l are false

70819151589. Statement 1 is true but Statement 1l is false

70819151590. Statement 1 is false but Statement 1l is true

Question Number : 50 Question Id : 70819115473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fegfe1: e Frm ke e o, e @ ek =)

fegfe 11:  TaT M (Al STMEZTEs a8 F914 TAED BTG FF FEA WHTATD NG

qH|

T Rfoahm wae Aoa @nal (A e Teh biee 71

Options :

20819151587, 9t 1@3e e 11 Tz 7o)

70819151588, | 4©

708191515809. E

70819151590. e

193 fagfe 11 Teras w9 |

S 1 7s fom fagfe 11 sprer)

1 51 fom fagfs 1157

Chemistry Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 70819115474 Question Type : SA

708191571
4

Online
Mandatory
10

5

20

Yes

1
708191851

Yes

gcollegedumag
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Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueofxis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819115474 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

45 o™ @ @9 A (MW =90) I59219 I3 @9 250 mL AT 799 o4FC ¥ TA | 93 W
M- @3 Tt 2 xx10°, waye@wa | (Frben sjefesy)

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115475 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is __

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes

gcollegeduma;
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Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819115475 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
a7l TRE-TEEE (AT CRHAT) TE G AANE TS (TS ReAm) 7
[40a TS, TR “feq wa e

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819115476 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A proton and a Li®* nucleus are accelerated by the same potential. If A, ; and J\P denote the

; " . oy
de Broglie wavelengths of Lit and proton respectively, then the value of AL s yx 1071,

A
P
The value of x is . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

gcollegedumag
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Question Number : 53 Question Id : 70819115476 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
& TeT e L+ Frefam @2 feq ar i 2 A @32\ WS L 6Re Teme

fe-gaf5 wawinine fom Fa, % @THrx10°L s@y@Tw__ | (Febew
wpefrea) '
[Li3+¢q ©a=83 TAGeR <]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819115477 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For the reaction A, — B, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value of A G for the reaction at 300 K and 1 atm in ] mol l'is —xR, where 1 is
_. (Rounded off to the nearest integer)

[R 8 ’-‘»1 ] mol 'K~ and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115477 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gcollegedunla
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300 K STl €32 1 atm BT Ay — B(E},ﬁf?ﬂ'ﬁ F A0 T4 100.0. 300 K 9991@ € 1 atm
5171 J mol ~ 1«73 @3 ff@Tm A G @7 W 28 —xR. x @@ WA | (Ferebem #jefeam)

[R=831] mol ~1K~1, In 10=23)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115478 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by 0.5°C.
The dissociation constant of CICH,COOH is x x 10 3, The value of x is
off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115478 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

500 mL &C& 945 g CICH,COOH @l 40# Tz 2% 0.5°C I3 I7| CICH,COOH ¢3
EEm FEax 103 sAy @ Tz | (FEbe o)

Response Type : Numeric

Evaluation Required For SA : Yes Qw"egedum



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115479 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990 K and 1 atm pressure, there are equal number of Cl, molecules and Cl atoms in the
reaction mixture. The value of K] for the reaction 'LIj ?LI under the above condilions
is X101, The value of xis =~ . (Rounded nll}f to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819115479 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fafaran e 1990 K @emTa €32 1 atm Bt Cl, 9 &% CL ARG T B Cly — 21

-fafemfa wn Sfafee @ 8 B K, @ T xx10 L S@y@ T |
(frrebem =pfeam)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

gcollegedunla



Question Number : 57 Question Id : 70819115480 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of sulphur in alkaline medium is given below :
The values of ‘a"is ___

(Integer answer)

(aq)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115480 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A T FAFAd [ omme
p 2 2 g
SgsytaOH™ () —> b S (@) +¢ 5,057 gy +d H,0()
‘A ATREA | (R TEa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115481 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gcollegeduma;
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Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
3.3x10 ) s ~lat 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperature is . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115481 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Y FERACLHA FEHERG FFad & 49W T =& @@e 153°C ooma 2@ k'
~@TM33x10~4 51| G% TARER TG 40% e T sy (R @3 F)
LG | (Frebow #efzam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115482 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the followingis

(A) BeO (B) BaO (C) Be(OH), (D)  Sr(OH),
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

gcollegedunla



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819115482 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fermfete [@sea Ty TouRl TAeR WA I3 ]
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),

F =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115483 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu?* + NHy —L= [Cu(NH,)[**

. - 34 K1 3 -
[Cu(NH,)[™" + NHy === [L“(NH,‘SJEJE

y 21

. 74 K-
[Cu(NH3 ), " + NHy == [Cu(NHjz )]

24

L 5 K s 2+
[Lu(NH;;);;J + NHj e = [{—U{NH,‘S )4]

The value of stability constants K, K,, K, and K, are 104, 1.58 x 103, 5% 102 and 102
respectively. The overall equilibrium constants for dissociation of [Cu(NH,),]>* is x x 10~ 12,
The value of x is (Rounded off to the nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes

gcollegedunla;
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115483 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Cu(NH,),|>* -4 4ei-wpsiial iz ef e s e =

1+

Cu™ + NHy A_-' [C“(NHLE)]E*
[CU{NH:&]JE* + NHj S [C“{NHLSTJEJE*
= 2+ Ks_ ¢ 2+
[{_U{NHﬂz] | NH;S = [{-U{NHE ]SJ

- + K . i
[LU{NH:ﬂﬁJZ b NH; === [Cu(NH; 34]2

Tefe #99 K, Ky, K; 98 K, @@ 79 2000 104 158 % 10%, 5x 107 €32 102 [Cu(NH,),>*

-« e HEE M £ T ax 10712 - @I | (Fabe spefieam)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191572
Section Number: 5
Section type : Online

gcollegedumag
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Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191852
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819115484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥

a3 | —

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =

=i

¥

Then the composition function f(g(x)) is :

Options :
70819151601 one-one but not onto

70819151602. onto but not one-one

70819151603 neither one-one nor onto

70819151604 both one-one and onto

Question Number : 61 Question Id : 70819115484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunla;
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ffaf:R >R g: R — {1} — R s o2 we@ms wam, f(x) =20 1632 g(x) = ,

T TS | WA S f(g(x)) 20 :
Options :

70819151601, GF-4F 8 WG

70819151602, T8 (8 GF-F T

OF- G T, TS T
70819151603, =0

70819151604, ¥ G o TR

Question Number : 62 Question Id : 70819115485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p + q=2 and p*+q*=272 Then p and q are
roots of the equation :
Options :

70819151605, ¥~ 2x 1136=0

L
70819151606, *© 2 116=0

2 ; e
70819151607, ¥ 2X18=0

70819151608, &

Question Number : 62 Question Id : 70819115485 Question Type : MCQ Optic— “*---<*=~-*--
Is Question Mandatory : No gcqllegeduniag



Correct Marks : 4 Wrong Marks : 1

i p @32 q qf 4GS AT, TS p +q=2 2 pt+¢* =272 T, WA p @32 q T6 W I (T
A 74 ;

Options :

¢

70819151605, ¥~ 2x 1136=0

22y ) =
70819151606, * 22X t16=0

A
70819151607, ¥ 2x18=0

AN, POSTEy g
70819151608, © X 12=0

Question Number : 63 Question Id : 70819115486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=50m

is inconsistent if :

Options:
k#3. m+ i
70819151609. 3
k=3 m= i
70819151610. 2
k=3 m ,—Li
70819151611. 4

k #3, meR
70819151612, T M collegedunia



Question Number : 63 Question Id : 70819115486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=5m
T TR AN ATFCI AW

Options :

U1 =

708191516009.

U] e

70819151610.

k=3 m=+
70819151611.

| e

+3
70819151612, <= % meR

Question Number : 64 Question Id : 70819115487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

Mg b o0y - 300 & s 1500 4 MG 4 Wy 5 G 6 Mgy T
Options:

70819151613, 201

13 ;
70819151614, 2 14 gcqllegedunia;



13
70819151615, 2~ 13

=14
70819151616, -~

Question Number : 64 Question Id : 70819115487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"'15{:1 + 2'15{_‘2 o 3'15{:3 R 15'15{:15 + 14{:1 + 14{:3 + 14{:5 o gt il 14{:11 T
wAq
Options :
16
70819151613, 2~ 1

70819151614, 2 14

13
70819151615, 2~ 13

~14
70819151616, -~

Question Number : 65 Question Id : 70819115488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.. [ | -
|-\'i!'.'i'.‘ch'1.‘:‘i4:+\'\‘..‘:‘i' x+..olog,2

If e “satisfies the equation t2-9t+8=0, then the value of

2sinx T .
T D"':l'":— 15
sinxy+ 3cosx

Options :

M| =

70819151617.

gcollegedunla;
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70819151618. V3

Mo

70819151619.

70819151620.

Question Number : 65 Question Id : 70819115488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. |IC\.‘:'|':3: +r~:m+x+rc.~ﬁh:+... : | log,.2 = . 2siny 13 )
T e 17 29t 18=0 el BT 30, @ — []fix-i—J
sin x + 3 cosx 2

LERIDITE I

Options :

M| =

70819151617.

70819151618. V3

Mo

70819151619.

70819151620.

Question Number : 66 Question Id : 70819115489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aj [Huw”t_] dt

s ” .
lim ————— isequal to:
x—l) x

gcollegedunla;
||||| s largest Student Review Platform



Options :

wW|N

70819151621.

ra| o3

70819151622.

1
70819151623, 12

70819151624, °

Question Number : 66 Question Id : 70819115489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
x

J(hj.l‘l'\.'q] dt

lim”—ﬁ EF W+ B0 ;

x—0 x

Options :

W N

70819151621.

N0

70819151622.

1
70819151623. 1

70819151624,

Question Number : 67 Question Id : 70819115490 Question Type : MCQ Optic

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4x® — 3x2 .
The function f(x)= —— — 2sinx+ (2x— 1) cosx :

._l J

mncreases in [

Options :

o]

70819151625.

1
decreases in [Er '”J
70819151626.

1
INCreases in [ oy ;

|

70819151627.

k3 |

decreases in ( 03
70819151628.

Question Number : 67 Question Id : 70819115490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4_1_3 3_2
LR, f(x) = o TER g (2x — 1)cosx :

Options:

s
FATEAT B {;, J‘J g e
70819151625. =

1
SFRZ 20 [;r "*J EIER A
70819151626. -

. '1
TFATEAT BT ( o, ;} Sirama 9
70819151627. o7

gcollegedumag
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. :
SRR 20T I = E] T T
70819151628. 3

Question Number : 68 Question Id : 70819115491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is :
Options :
70819151629, 1050

70819151630, 1022

70819151631, 260

70819151632, 975

Question Number : 68 Question Id : 70819115491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G @ TG 99 F0e 203 6 vae @3 8 Frma g, TEre IR WEET 2 B vaeT «de
wEea e e frm w3 Fhfha 7 73

Options :
70819151629, 1050

70819151630, 1022

70819151631, 560 M collegedunia



70819151632, 975

Question Number : 69 Question Id : 70819115492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

[ff:R — Ris afunction defined by f(x)=[x 1] cos[

Jrr , where [] denotes the greatest
.

integer function, then fis :

Options :

70819151633. discontinuous only at x=1

70819151634. discontinuous at all integral values of x except at x=1

70819151635, continuous only at x=1

continuous for every real x
70819151636. g

Question Number : 69 Question Id : 70819115492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x

W f2 R — R G5 9 f(x)=[x 1] cos( 'l]c.—,ﬂm. TR [, 71foe %03, WA o1y

2
A =x, OA f:

Options:

70819151633, 189 203 TFFEAE x =19

" . : = u ” T —
20819151634, TTEO XA x & FEA TG W, G x =1 T

gcollegedunlag
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70819151635, 1B° A @ x=14

70819151636, Mo X SR SN SIS Hic

Question Number : 70 Question Id : 70819115493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. : . I e ’ i
. (COSX— sinx . -1/ sinx+ cosx : L :
[f :dx = asin 11 ———— | + ¢, where c is a constant of integration, then
by

V8 — sin 2x b /

the ordered pair (a, b) is equal to :
Options :

70819151637, & 1)

70819151638, (1 3)

70819151639, (1 3)

q
70819151640. Lt

Question Number : 70 Question Id : 70819115493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F s i ok
gy [COSXZ SINY (o agin [ FRET COSX) L TR ¢ R 595, WA GRS (a, b
r: V8 — sin 2x \ b J s
4.
Options:
70819151637, & 1)

gcollegedunla
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70819151638, (1 3)

70819151639, (1 3)

'.1
70819151640. L

Question Number : 71 Question Id : 70819115494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle x> +17>=36, which is outside the parabola

y3=91, is :
Options:

70819151641, 247 + 3V3

20819151642, 24T — 333

70819151643, 127 + 33

H
2
2
(e
<,

70819151644.

Question Number : 71 Question Id : 70819115494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
x2+y2 =36 089 T He* 2= 9x WRICEA A30A SRS ©ZA THaFa (9 GS) FA ¢

Options :

70819151641, 247 + 333

27 — 33
70819151642, gm”egedumag



70819151643, 127 + 343

70819151644, 127 — 33

Question Number : 72 Question Id : 70819115495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The population P=P(t) at time t’ of a certain species follows the differential equation

dp
i 0.5P — 450. 1f P(0) =850, then the time at which population becomes zero is :

Options :

log 9
70819151645,  o¢

1
;IngFlS
70819151646. ~

log 18
70819151647,  Be

2103{;18
70819151648.

Question Number : 72 Question Id : 70819115495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ F Ted Tl ¢ F0E P=P(t) 2, % =05P — 450 @5 wRFew FARAE FAH | I
P(0) =850, T3 F© T T TP 203 40 O T 7

Options:

log 9
70819151645, M collegedunia



1
;If}gflﬁ
70819151646. ~

log 18
70819151647. Be

2loe 18
70819151648. Be

Question Number : 73 Question Id : 70819115496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A man is walking on a straight line. The arithmetic mean of the reciprocals of the intercepts

" l 1
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2 2) and (4, 4) respectively. Then which of these stones is/are on the path of the
man ?

Options :

70819151649, 2 only

70819151650, B Ny

C only
70819151651. §

70819151652, All the three

Question Number : 73 Question Id : 70819115496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TG TG (@D ALY A 60 | @ TSI T (Rele¥ 9o e Aama
imﬁﬁ%.ﬁﬁW%A££F?WEmENUJL&3ﬂﬁ&&ﬁ%@ﬁ@ﬁlEﬂﬁ
N TG/ TFHRE & TS Y SE A )

Options :

70819151649, CFaamId A

70819151650, Fa==d B

70819151651, Cramd C

70819151652. R

Question Number : 74 Question Id : 70819115497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-pnint of the line segment joining the focus of the parabo[a yz =daxtoa

moving point of the parabola, is another parabola whose directrix is :
Options :

70819151653, * =4

d

xX==-—

70819151654, 2
70819151655, ¥ =Y
a
x=—
70819151656. 2

Question Number : 74 Question Id : 70819115497 Question Type : MCQ Optic= ' -£iw=~ « MV~
Is Question Mandatory : No gcqllegeduniag



Correct Marks : 4 Wrong Marks : 1

= 4ax W430E 7S G2 & W4qrea T17 SRFS 17 T [7a Fradial (a4199d S4Iegd AT
Wﬂﬁ‘aﬂqwﬁﬂmmmmﬂ%qm.

Options:

70819151653, * =42

da

xX=—- —

70819151654, 2
70819151655, ¥ =0
da
xX=—
70819151656. 2

Question Number : 75 Question Id : 70819115498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=ﬁ at the point P(t, t3j meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1: 2 is :
Options :

70819151657.

70819151658. <*
70819151659.
70819151660. =

Question Number : 75 Question Id : 70819115498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
collegedunla



Correct Marks : 4 Wrong Marks : 1

y =20 TF P(t, ) e wifke >niE & I3 +7am Q fmqre fifre =, PQTa 1 47 1: 2 wrpeie
foroe 313 oE @ 73 ;

Options:

70819151657.

70819151658, <
70819151659.

70819151660. =

Question Number : 76 Question Id : 70819115499 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, —3) and perpendicular to the

planes 3x +y—2z=>5 and 2x -5y -z=7, is :
Options:
70819151661, 6% —9y+2z+10=0

70819151662, ‘T % * ¥ I TA =

X y I,
70819151663, 0% °Y 2 0

70819151664, ¥~ 10y—2z+11=0

Question Number : 76 Question Id : 70819115499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag



@ e (1, 2, - 3) Repsr® @@2 x4y 22=5 @@L 2 5y =7 S T 7Y WA S
1S B
Options :
70819151661, 0% Oy +2z+10=0

70819151662, ‘T % F Y TR HIE=N

X p I,
70819151663, 0% Y 2 0

70819151664, ¥ 10y~ 2z +11=0

Question Number : 77 Question Id : 70819115500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance of the point (1, 1, 9) from the point of intersection of the line

=B ped

lI :J:. = and the plane x +y+2=17 is :
Options:

70819151665, 219

70819151666, 19v2

70819151667, V38

70819151668. I8

Question Number : 77 Question Id : 70819115500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 .
gcollegeduma;



X Sk T
1 2 2
(1,1, 9) T e =03

5 L i
TR €38 x +y+z=17 oA F faqre 1= I TR 7Y 140

Options :

70819151665, 2v19
70819151666, 192

70819151667. V38

70819151668. 38

Question Number : 78 Question Id : 70819115501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probability of getting an odd number for odd number of times is :

Options :

70819151669, 32

70819151670.

70819151671, 16

1
70819151672, 2

gcollegedunla;
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Question Number : 78 Question Id : 70819115501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G MR TR SIS I TRIT TA | Tl FROSTT 2 T TR 2 @9, THS AT TR 3 4T
FAH ZH, @ HET 747 TR TR AU 99 7A@

Options :

70819151669.

70819151670.

70819151671, 16

b | =

70819151672.

Question Number : 79 Question Id : 70819115502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :
Options:

70819151673.

70819151674, >0

70819151675, 20¥3

2
70819151676, 2533 M collegedunia



Question Number : 79 Question Id : 70819115502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7B T3 475 150 m T4 e @32 @@foa Twe weraba 3 a1 3 SITR R AT AU
Ty e Ta Aefen Tt (el 7 e 4ES T 2, WA 1eh g el () 7

Options :

70819151673.

70819151674, >0

70819151675, 20V3

70819151676.

Question Number : 80 Question Id : 70819115503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :
Options :
70819151677, 4 (A D)

70819151678, * ¥ (A~ B)

70819151679, A~ (A—=B)]—=B

70819151680, © LA~ (A= B)]

gcollegedumag
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Question Number : 80 Question Id : 70819115503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@3 FgfeaRa St TG TewmeES (tautology) 26 ?

Options :
70819151677, (A v B)
70819151678, * ¥ (A~ B)

70819151679, A~ (A—=B)]—=B

70819151680.

Mathematics Section B

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191573
6

Online
Mandatory
10

5

20

Yes

1
708191853

Yes

Question Number : 81 Question Id : 70819115504 Question Type : SA

gcollegedumaz
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Correct Marks : 4 Wrong Marks : 0
If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0

zCandi=+-1)hasa solution, are p and g respectively; then 4(p® + g% is equal to
P q resp ) P~ 1q q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819115504 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

z+alz-1|+2i=0, (zeC €% ='J_'l] % FAFAA o @ G LA T2H G372 AT TG TR
R B €F) TG, p @@ q ITEW | TAL(p2+ ) AT
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115505 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gcollegeduma;
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Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2p) p=af and

P(B,)

(B~ 3y) p=2fv (All the probabilities are assumed to lie in the interval (0, 1)). Then m is

oqua[ to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115505 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aﬁBf(‘lzlrzrf})?ﬁﬂﬁ?@“ﬂ” THC*| 795 By &9 AT o, (394 B, I AGH B, G2 (394 B,y
&7 GR v ZW | 3 p 27 Ty B, 1 Xom g @3 «& 4 HeE 3 Forsferiie =6 Frg w3

P(By)

(a—2p) p=ap @32 (B-3y) p=2y MW F4 (0, 1) W=E), S@ m ¢ T (q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115506 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gcollegedumag
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3 -1 -2
Let P=|2
3 -5 []_
k 2
some non-zero ke R. If 3= E and Q = T,then 2+ ks equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115506 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

j =2

M P =

w2

. k
?ﬂc"'lqzs: g g2 Q = i @ o+ k2 @F W 37F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819115507 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 «|, where acR. Suppose Q=[ q.] is a matrix satisfying PQ =kI, for

0 o, TR acR. T Q=[q,] <5 Wiy & FI PQ=KI, ke R 4% k= 0.

gcollegeduma;
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Let M be any 3 x3 matrix with entries from the set {0, 1, 2}. The maximum number of such

matrices, for which the sum of diagonal elements of MM is seven, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819115507 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 M @@ 3 x 3 TH A2 *Maga 2@ O {0, 1, 2). W@ Foaf & «@m Wis 203, e,

MT™™ @7 e T el woRFe e 204 7
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819115508 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A={neN:nisa3-digit number }
B={9%+2: keN}
and C={9%+]: keN}forsomel (0<]<9)

If the sum of all the elements of the set A " (B C)is 274 x 400, then [isequal to

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes

gcollegedumag
||||| s largest Student Review Platform



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819115508 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W A={neN :n, o7 o= [ME Aeam )
B={9%+2: keN}
“={9%+1: ke N}, TR (0 <1<9)
vxfﬁm»(B C) @3 T3 8 “Mafem Tsa 274 x 400 T, @ | ¢4 T4 2@

UL

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115509 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— ; 1
The minimum value of « for which the equation . | T has at least one

f T \
solution in ' 0, ?| is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

gcollegeduma;
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5 to 5.001

Question Number : 86 Question Id

Correct Marks : 4 Wrong Marks : 0

. 4 1
oo $19 HAIT TR 0T Gl — A :
sinx 1 - sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819115509 Question Type : SA

= a xﬂ'sl'|r[],;\l| TS FWATH I T LTI ?
-y

: 70819115510 Question Type : SA

d
If I{x Flx = 2)dx = 22, (a > 2) and [x] denotes the greatest integer < x,
d

d

then I(x tlx])dy isequalto .

a
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819115510 Question Type : SA

gcollegedunla;
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)dx = 22, (a>2) @32 [x], %be T Fcafws w4 Fe<x, %0 [ (x+ [x]) dx

-a a

=
e, B
—

—

(=

]

A
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115511 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one of the diameters of the circle %1 yz 2x— 6y +6=0 is a chord of another circle ‘C’,

whose center is at (2, 1), then its radius is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115511 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W 224 2~ 20— by + 6 =0 F0TA @ G&b IM 8 'C’ @A «F & A, T70 @ (2, 1), T &
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

gcollegeduma;
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Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819115512 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- = — it i . e e e
Let three vectors a, b and ¢ be such that ¢ is coplanarwith 3 and b, 3 - ¢ =7 and
— — — " ] ’\ A — A A
b is perpendicular to ¢, where a =~1 + j 4 k and b =2i + k, then the value of

— — ="

JNa+b+c B______ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819115512 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o 7997 o b @2 o TRUA o 99 5 @2 | A N0 OF% OA GEH I, 3 - ¢ = 7
§3 b TSIA  TSHAA CAF AR RIAMA a=-i+j+k €3 b =2i +k, A

%

@TNT

2la +b+¢
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

gcollegeduma;
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Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819115513 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

n ¢ \
: - 1
lim tan JE tan ll — |> is equal to ‘
ol A e ———

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819115513 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

/ 1 \l
5 (f @9 = 2q

In
lim tan Jz tan | — —
r=1 Al TE E ;]

M—px

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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